= a
N = 0l & AF & F Al A
20108 =& 2 3| LESH JIEFAIE A ~ JIEFAIE A&
A= JIEtAIE & A HdEdHE
HE: =N
el WAE UEEE (el =3
AR RA B SR(EH) - ARAY - BES 0 & 24 pJE-T {imE=Eh
JIEFAME & 28,590,247 28,660,947 A70,700
= 223,170 223,170 0
= 1,503, 108 1,503, 108 0
= 191,900 191,900 0
= 523,133 489,263 33,870
Al 26,148,936 26,253,506 A 104,570
Hd=2stdH 719,749 664,749 55,000
HE=2Xsd 708,938 653,938 55,000
HaUs IE2Y 698,298 643,298 55,000
SET= Y 380,520 325,520 55,000
201 LEH2HH| 377,860 322,860 55,000
01 AtS2t2ibl 368,360 313,360 55,000
Oo2g=¢ 368,360 313,360 55,000
cuFLA=E 2 & 368,360,000& * 14 368,360 313,360 55,000




AR JIEFALR A SN HYSSEAZE
Ha: ZTEANT B L 2HEAEY
Sl ANYENR 2825 (e @e
A= 2M -3 - SAEH) - MRAY - BES Off &F K I8N BlusZ
BB S T AISRIE 3,332,912 3,315,512 17,400
= 223,170 223,170 0
= 179,400 179,400 0
= 19,020 1,620 17,400
Al 2,911,322 2,911,322 0
TTCAB 25 Y SHACAEY 2,979,481 2,962,081 17,400
= 196,900 196,900 0
= 179,400 179,400 0
= 19,020 1,620 17,400
Al 2,584, 161 2,584, 161 0
NYENZ 2925 2,878,505 2,861,105 17,400
=2 190,900 190,900 0
= 176,400 176,400 0
= 7,400 0 17,400
Al 2,493,805 2,493,805 0
RS T AB XA 17,400 0 17,400
= 17,400 0 17,400
401 A& 2| 4,500 0 4,500
= 4,500 0 4,500
01 Al&H 4,500 0 4,500
OLSBLIS N2TH2 M0 ALY
) 4,000,008 * 141 4,000 0 4,000
= 4,000 0 4,000
OBt£et M2 TN RH(W2S) IHI2IHZAH &S
) 500,008 * 144 500 0 500
= 500 0 500
405 XHaHE SH) 12,900 0 12,900
= 12,900 0 12,900
01 XHAYLSEF S| 7,900 0 7,900
OVPN ZHHI(&EH) 2,700,000% * 1CH 2,700 0 2,700
= 2,700 0 2,700
OMNE HIEEEII(LYN)
3,000,0009 * 1CH 3,000 0 3,000
= 3,000 0 3,000
OMME ZEE(SEH) 1,500,008 * 104 1,500 0 1,500
= 1,500 0 1,500
OSHZEIN(SYR) 700,008 * 14! 700 0 700
= 700 0 700
02 SAHPYH] 5,000 0 5,000
OYNHEEHT THTY(SYH)
20,0008 * 250 5,000 0 5,000
= 5,000 0 5,000




¢ JIEFARR A M HEET

D EE MBEY XY

)

CHYISHM2AIE 23 &

=

2l

22N FHH () - MRAY - B o1 o 2
FE AR A 18,190,584 A 143,100
= 26,710 16,470
Al 18,163,874 A 159,570
St MEEAd x4 9,201,143 A 143,100
= 26,710 16,470
9,174,433 A 159,570
HIIZHRIAL #X 2 2 1,677,725 256,000
HOIZ0UHXISAIE &XI 256,000 A 256,000
401 A EHIL 204 76,000 AT76,000
03 Al =204l 76,000 276,000
OSSENEC|HE BEF+E 2& 03 70,000 A70,000
OBIISHUATNSIAIL &3 20
Z & 4,000,000 = 14 10,000 26,000
403 X SHMSAH=201H 180,000 A 180,000
02 SI|2SOCHSCHE A I 180,000 A180,000
QHIIZUHUHRXISAIE &X E==2
38 0¥ 180,000 A 180,000
MY DISEN 84st & HH 4,590,317 88,000
& 26,710 0
4,563,607 88,000
MYIIBHH 2E HE 448,447 AT7,049
206 M=l 448,447 AT,049
01 M=l 448,447 AT,049
OLVIBY SAS BN FAZS HE (A
43 &) A& -7,049,000& * 14 0 AT,049
Mg o dXHIIE Hel 243F 424,429 101,053
307 S12t0I& 177,500 31,053
05 CIZtRAEZ 120,000 31,053
OYXIMI| LIZoletHel (AL BT LE)
Z & 91,053,000& * 14 60,000 31,053
401 A &HIL 2048 45,000 70,000
01 Al&H| 45,000 70,000
ONWIME S5 L LHAL DA
2 & 115,000,000& * 14 45,000 70,000
sEYHde 2& 70,929 26,004
201 LetIH| 15,504 26,004
02 =234l 15,504 26,004
Ozs32= % HAl 11,520 A5,004
oSHEI| AANUE AR (AT
) Z2& 6,516,000& » 14 11,520 25,004
OA&EHI= Xl 4,800 A 1,000




A= JIEFAIY 2 SN MBEAAYL
o WS MBHY X4
SRl MUDISH Bos ¥ HA (el &2
AR RN SR(SH) - NRAY - BHES 0 & 24 p/E-T" HRE2
SN RNE4(0ISEX 28) (MY
SR 23 3,800,000% 3,800 4,800 A1,000
401 AlZHIL 2O 0 54,000 54,000
01 Al&H] 0 54,000 54,000
OMIISHEI| ZASIHE X (SYE 2)
23 o 0 54,000 54,000
405 THAHE St 54,000 0 54,000
01 RALSEHSH| 54,000 0 54,000
OMYIISHEI] 2ATIHE P (2H)
54,000,0002 * 14 54,000 0 54,000
NEAEY U YEE =X 2,066,054 2,041,154 24,900
= 16,470 0 16,470
Al 2,049,584 2,041,154 8,430
SASRHIIS L WESE N 507,354 537,354 30,000
307 BI2HOI 120,000 50,000 30,000
05 PIZteIEr2 120,000 50,000 30,000
O& 2 XNFEIIS eISIE Hel|
3y 0 0 30,000 30,000
SX HAS SYOIE AFH He 54,900 0 54,900
= 16,470 0 16,470
Al 38,430 0 38,430
307 BI2HOI 54,900 0 54,900
= 16,470 0 16,470
Al 38,430 0 38,430
05 QI2r9IEr3 54,900 0 54,900
OWR HAY 2 0/E 22 He
60,0002 * 915 54,900 0 54,900
= 16,470 0 16,470
Al 38,430 0 38,430




